
CSMACD-bc5.imi

Generated by IMITATOR 3.4-beta "Cheese Durian"
Build: develop/6908f5d

Generation time: Tue Jan 23, 2024 17:36:08

3 clocks

x1
x2
y

3 parameters

lambda
sigma

timeslot

Initial

lambda >= 0 
 & sigma >= 0 

 & timeslot >= 0 
 & x1 = 0 
 & x2 = 0 
 & y = 0

medium

Init True

Transmit True

send1
  y := 0;

send2
  y := 0;

end1
  y := 0;

end2
  y := 0;

 y >= sigma
busy1

 y >= sigma
busy2

Collide sigma >= y

 sigma >= y
send1

  y := 0;

 sigma >= y
send2

  y := 0;

 sigma >= y
cd

  y := 0;

sender1

Init1 True

Transmit1 lambda >= x1

send1

Done1 0 >= x1

 lambda = x1
end1

  x1 := 0;

Collide1_1 0 >= x1

cd
  x1 := 0;

Wait1_1_3 3*timeslot >= x1

prob1

Wait1_1_2 2*timeslot >= x1

prob1

Wait1_1_1 timeslot >= x1

prob1

Wait1_1_0 0 >= x1

prob1

 3*timeslot = x1
send1

  x1 := 0;

Collide1_2 0 >= x1

 3*timeslot = x1
busy1

  x1 := 0;

 2*timeslot = x1
send1

  x1 := 0;

 2*timeslot = x1
busy1

  x1 := 0;

 timeslot = x1
send1

  x1 := 0;

 timeslot = x1
busy1

  x1 := 0;

 x1 = 0
send1

  x1 := 0;

 x1 = 0
busy1

  x1 := 0;

Wait1_2_7 7*timeslot >= x1

prob1

Wait1_2_6 6*timeslot >= x1

prob1

Wait1_2_5 5*timeslot >= x1

prob1

Wait1_2_4 4*timeslot >= x1

prob1

Wait1_2_3 3*timeslot >= x1

prob1

Wait1_2_2 2*timeslot >= x1

prob1

Wait1_2_1 timeslot >= x1

prob1

Wait1_2_0 0 >= x1

prob1

 7*timeslot = x1
send1

  x1 := 0;

Collide1_3 0 >= x1

 7*timeslot = x1
busy1

  x1 := 0;

 6*timeslot = x1
send1

  x1 := 0;

 6*timeslot = x1
busy1

  x1 := 0;

 5*timeslot = x1
send1

  x1 := 0;

 5*timeslot = x1
busy1

  x1 := 0;

 4*timeslot = x1
send1

  x1 := 0;

 4*timeslot = x1
busy1

  x1 := 0;

 3*timeslot = x1
send1

  x1 := 0;

 3*timeslot = x1
busy1

  x1 := 0;

 2*timeslot = x1
send1

  x1 := 0;

 2*timeslot = x1
busy1

  x1 := 0;

 timeslot = x1
send1

  x1 := 0;

 timeslot = x1
busy1

  x1 := 0;

 x1 = 0
send1

  x1 := 0;

 x1 = 0
busy1

  x1 := 0;

Wait1_3_15 15*timeslot >= x1

prob1

Wait1_3_14 14*timeslot >= x1

prob1

Wait1_3_13 13*timeslot >= x1

prob1

Wait1_3_12 12*timeslot >= x1

prob1

Wait1_3_11 11*timeslot >= x1

prob1

Wait1_3_10 10*timeslot >= x1

prob1

Wait1_3_9 9*timeslot >= x1

prob1

Wait1_3_8 8*timeslot >= x1

prob1

Wait1_3_7 7*timeslot >= x1

prob1

Wait1_3_6 6*timeslot >= x1

prob1

Wait1_3_5 5*timeslot >= x1

prob1

Wait1_3_4 4*timeslot >= x1

prob1

Wait1_3_3 3*timeslot >= x1

prob1

Wait1_3_2 2*timeslot >= x1

prob1

Wait1_3_1 timeslot >= x1

prob1

Wait1_3_0 0 >= x1

prob1

 15*timeslot = x1
send1

  x1 := 0;

Collide1_4 0 >= x1

 15*timeslot = x1
busy1

  x1 := 0;

 14*timeslot = x1
send1

  x1 := 0;

 14*timeslot = x1
busy1

  x1 := 0;

 13*timeslot = x1
send1

  x1 := 0;

 13*timeslot = x1
busy1

  x1 := 0;

 12*timeslot = x1
send1

  x1 := 0;

 12*timeslot = x1
busy1

  x1 := 0;

 11*timeslot = x1
send1

  x1 := 0;

 11*timeslot = x1
busy1

  x1 := 0;

 10*timeslot = x1
send1

  x1 := 0;

 10*timeslot = x1
busy1

  x1 := 0;

 9*timeslot = x1
send1

  x1 := 0;

 9*timeslot = x1
busy1

  x1 := 0;

 8*timeslot = x1
send1

  x1 := 0;

 8*timeslot = x1
busy1

  x1 := 0;

 7*timeslot = x1
send1

  x1 := 0;

 7*timeslot = x1
busy1

  x1 := 0;

 6*timeslot = x1
send1

  x1 := 0;

 6*timeslot = x1
busy1

  x1 := 0;

 5*timeslot = x1
send1

  x1 := 0;

 5*timeslot = x1
busy1

  x1 := 0;

 4*timeslot = x1
send1

  x1 := 0;

 4*timeslot = x1
busy1

  x1 := 0;

 3*timeslot = x1
send1

  x1 := 0;

 3*timeslot = x1
busy1

  x1 := 0;

 2*timeslot = x1
send1

  x1 := 0;

 2*timeslot = x1
busy1

  x1 := 0;

 timeslot = x1
send1

  x1 := 0;

 timeslot = x1
busy1

  x1 := 0;

 x1 = 0
send1

  x1 := 0;

 x1 = 0
busy1

  x1 := 0;

Wait1_4_31 31*timeslot >= x1

prob1

Wait1_4_30 30*timeslot >= x1

prob1

Wait1_4_29 29*timeslot >= x1

prob1

Wait1_4_28 28*timeslot >= x1

prob1

Wait1_4_27 27*timeslot >= x1

prob1

Wait1_4_26 26*timeslot >= x1

prob1

Wait1_4_25 25*timeslot >= x1

prob1

Wait1_4_24 24*timeslot >= x1

prob1

Wait1_4_23 23*timeslot >= x1

prob1

Wait1_4_22 22*timeslot >= x1

prob1

Wait1_4_21 21*timeslot >= x1

prob1

Wait1_4_20 20*timeslot >= x1

prob1

Wait1_4_19 19*timeslot >= x1

prob1

Wait1_4_18 18*timeslot >= x1

prob1

Wait1_4_17 17*timeslot >= x1

prob1

Wait1_4_16 16*timeslot >= x1

prob1

Wait1_4_15 15*timeslot >= x1

prob1

Wait1_4_14 14*timeslot >= x1

prob1

Wait1_4_13 13*timeslot >= x1

prob1

Wait1_4_12 12*timeslot >= x1

prob1

Wait1_4_11 11*timeslot >= x1

prob1

Wait1_4_10 10*timeslot >= x1

prob1

Wait1_4_9 9*timeslot >= x1

prob1

Wait1_4_8 8*timeslot >= x1

prob1

Wait1_4_7 7*timeslot >= x1

prob1

Wait1_4_6 6*timeslot >= x1

prob1

Wait1_4_5 5*timeslot >= x1

prob1

Wait1_4_4 4*timeslot >= x1

prob1

Wait1_4_3 3*timeslot >= x1

prob1

Wait1_4_2 2*timeslot >= x1

prob1

Wait1_4_1 timeslot >= x1

prob1

Wait1_4_0 0 >= x1

prob1

 31*timeslot = x1
send1

  x1 := 0;

Collide1_5 0 >= x1

 31*timeslot = x1
busy1

  x1 := 0;

 30*timeslot = x1
send1

  x1 := 0;

 30*timeslot = x1
busy1

  x1 := 0;

 29*timeslot = x1
send1

  x1 := 0;

 29*timeslot = x1
busy1

  x1 := 0;

 28*timeslot = x1
send1

  x1 := 0;

 28*timeslot = x1
busy1

  x1 := 0;

 27*timeslot = x1
send1

  x1 := 0;

 27*timeslot = x1
busy1

  x1 := 0;

 26*timeslot = x1
send1

  x1 := 0;

 26*timeslot = x1
busy1

  x1 := 0;

 25*timeslot = x1
send1

  x1 := 0;

 25*timeslot = x1
busy1

  x1 := 0;

 24*timeslot = x1
send1

  x1 := 0;

 24*timeslot = x1
busy1

  x1 := 0;

 23*timeslot = x1
send1

  x1 := 0;

 23*timeslot = x1
busy1

  x1 := 0;

 22*timeslot = x1
send1

  x1 := 0;

 22*timeslot = x1
busy1

  x1 := 0;

 21*timeslot = x1
send1

  x1 := 0;

 21*timeslot = x1
busy1

  x1 := 0;

 20*timeslot = x1
send1

  x1 := 0;

 20*timeslot = x1
busy1

  x1 := 0;

 19*timeslot = x1
send1

  x1 := 0;

 19*timeslot = x1
busy1

  x1 := 0;

 18*timeslot = x1
send1

  x1 := 0;

 18*timeslot = x1
busy1

  x1 := 0;

 17*timeslot = x1
send1

  x1 := 0;

 17*timeslot = x1
busy1

  x1 := 0;

 16*timeslot = x1
send1

  x1 := 0;

 16*timeslot = x1
busy1

  x1 := 0;

 15*timeslot = x1
send1

  x1 := 0;

 15*timeslot = x1
busy1

  x1 := 0;

 14*timeslot = x1
send1

  x1 := 0;

 14*timeslot = x1
busy1

  x1 := 0;

 13*timeslot = x1
send1

  x1 := 0;

 13*timeslot = x1
busy1

  x1 := 0;

 12*timeslot = x1
send1

  x1 := 0;

 12*timeslot = x1
busy1

  x1 := 0;

 11*timeslot = x1
send1

  x1 := 0;

 11*timeslot = x1
busy1

  x1 := 0;

 10*timeslot = x1
send1

  x1 := 0;

 10*timeslot = x1
busy1

  x1 := 0;

 9*timeslot = x1
send1

  x1 := 0;

 9*timeslot = x1
busy1

  x1 := 0;

 8*timeslot = x1
send1

  x1 := 0;

 8*timeslot = x1
busy1

  x1 := 0;

 7*timeslot = x1
send1

  x1 := 0;

 7*timeslot = x1
busy1

  x1 := 0;

 6*timeslot = x1
send1

  x1 := 0;

 6*timeslot = x1
busy1

  x1 := 0;

 5*timeslot = x1
send1

  x1 := 0;

 5*timeslot = x1
busy1

  x1 := 0;

 4*timeslot = x1
send1

  x1 := 0;

 4*timeslot = x1
busy1

  x1 := 0;

 3*timeslot = x1
send1

  x1 := 0;

 3*timeslot = x1
busy1

  x1 := 0;

 2*timeslot = x1
send1

  x1 := 0;

 2*timeslot = x1
busy1

  x1 := 0;

 timeslot = x1
send1

  x1 := 0;

 timeslot = x1
busy1

  x1 := 0;

 x1 = 0
send1

  x1 := 0;

 x1 = 0
busy1

  x1 := 0;

Wait1_5_63 63*timeslot >= x1

prob1

Wait1_5_62 62*timeslot >= x1

prob1

Wait1_5_61 61*timeslot >= x1

prob1

Wait1_5_60 60*timeslot >= x1

prob1

Wait1_5_59 59*timeslot >= x1

prob1

Wait1_5_58 58*timeslot >= x1

prob1

Wait1_5_57 57*timeslot >= x1

prob1

Wait1_5_56 56*timeslot >= x1

prob1

Wait1_5_55 55*timeslot >= x1

prob1

Wait1_5_54 54*timeslot >= x1

prob1

Wait1_5_53 53*timeslot >= x1

prob1

Wait1_5_52 52*timeslot >= x1

prob1

Wait1_5_51 51*timeslot >= x1

prob1

Wait1_5_50 50*timeslot >= x1

prob1

Wait1_5_49 49*timeslot >= x1

prob1

Wait1_5_48 48*timeslot >= x1

prob1

Wait1_5_47 47*timeslot >= x1

prob1

Wait1_5_46 46*timeslot >= x1

prob1

Wait1_5_45 45*timeslot >= x1

prob1

Wait1_5_44 44*timeslot >= x1

prob1

Wait1_5_43 43*timeslot >= x1

prob1

Wait1_5_42 42*timeslot >= x1

prob1

Wait1_5_41 41*timeslot >= x1

prob1

Wait1_5_40 40*timeslot >= x1

prob1

Wait1_5_39 39*timeslot >= x1

prob1

Wait1_5_38 38*timeslot >= x1

prob1

Wait1_5_37 37*timeslot >= x1

prob1

Wait1_5_36 36*timeslot >= x1

prob1

Wait1_5_35 35*timeslot >= x1

prob1

Wait1_5_34 34*timeslot >= x1

prob1

Wait1_5_33 33*timeslot >= x1

prob1

Wait1_5_32 32*timeslot >= x1

prob1

Wait1_5_31 31*timeslot >= x1

prob1

Wait1_5_30 30*timeslot >= x1

prob1

Wait1_5_29 29*timeslot >= x1

prob1

Wait1_5_28 28*timeslot >= x1

prob1

Wait1_5_27 27*timeslot >= x1

prob1

Wait1_5_26 26*timeslot >= x1

prob1

Wait1_5_25 25*timeslot >= x1

prob1

Wait1_5_24 24*timeslot >= x1

prob1

Wait1_5_23 23*timeslot >= x1

prob1

Wait1_5_22 22*timeslot >= x1

prob1

Wait1_5_21 21*timeslot >= x1

prob1

Wait1_5_20 20*timeslot >= x1

prob1

Wait1_5_19 19*timeslot >= x1

prob1

Wait1_5_18 18*timeslot >= x1

prob1

Wait1_5_17 17*timeslot >= x1

prob1

Wait1_5_16 16*timeslot >= x1

prob1

Wait1_5_15 15*timeslot >= x1

prob1

Wait1_5_14 14*timeslot >= x1

prob1

Wait1_5_13 13*timeslot >= x1

prob1

Wait1_5_12 12*timeslot >= x1

prob1

Wait1_5_11 11*timeslot >= x1

prob1

Wait1_5_10 10*timeslot >= x1

prob1

Wait1_5_9 9*timeslot >= x1

prob1

Wait1_5_8 8*timeslot >= x1

prob1

Wait1_5_7 7*timeslot >= x1

prob1

Wait1_5_6 6*timeslot >= x1

prob1

Wait1_5_5 5*timeslot >= x1

prob1

Wait1_5_4 4*timeslot >= x1

prob1

Wait1_5_3 3*timeslot >= x1

prob1

Wait1_5_2 2*timeslot >= x1

prob1

Wait1_5_1 timeslot >= x1

prob1

Wait1_5_0 0 >= x1

prob1

 63*timeslot = x1
send1

  x1 := 0;

 63*timeslot = x1
busy1

  x1 := 0;

 62*timeslot = x1
send1

  x1 := 0;

 62*timeslot = x1
busy1

  x1 := 0;

 61*timeslot = x1
send1

  x1 := 0;

 61*timeslot = x1
busy1

  x1 := 0;

 60*timeslot = x1
send1

  x1 := 0;

 60*timeslot = x1
busy1

  x1 := 0;

 59*timeslot = x1
send1

  x1 := 0;

 59*timeslot = x1
busy1

  x1 := 0;

 58*timeslot = x1
send1

  x1 := 0;

 58*timeslot = x1
busy1

  x1 := 0;

 57*timeslot = x1
send1

  x1 := 0;

 57*timeslot = x1
busy1

  x1 := 0;

 56*timeslot = x1
send1

  x1 := 0;

 56*timeslot = x1
busy1

  x1 := 0;

 55*timeslot = x1
send1

  x1 := 0;

 55*timeslot = x1
busy1

  x1 := 0;

 54*timeslot = x1
send1

  x1 := 0;

 54*timeslot = x1
busy1

  x1 := 0;

 53*timeslot = x1
send1

  x1 := 0;

 53*timeslot = x1
busy1

  x1 := 0;

 52*timeslot = x1
send1

  x1 := 0;

 52*timeslot = x1
busy1

  x1 := 0;

 51*timeslot = x1
send1

  x1 := 0;

 51*timeslot = x1
busy1

  x1 := 0;

 50*timeslot = x1
send1

  x1 := 0;

 50*timeslot = x1
busy1

  x1 := 0;

 49*timeslot = x1
send1

  x1 := 0;

 49*timeslot = x1
busy1

  x1 := 0;

 48*timeslot = x1
send1

  x1 := 0;

 48*timeslot = x1
busy1

  x1 := 0;

 47*timeslot = x1
send1

  x1 := 0;

 47*timeslot = x1
busy1

  x1 := 0;

 46*timeslot = x1
send1

  x1 := 0;

 46*timeslot = x1
busy1

  x1 := 0;

 45*timeslot = x1
send1

  x1 := 0;

 45*timeslot = x1
busy1

  x1 := 0;

 44*timeslot = x1
send1

  x1 := 0;

 44*timeslot = x1
busy1

  x1 := 0;

 43*timeslot = x1
send1

  x1 := 0;

 43*timeslot = x1
busy1

  x1 := 0;

 42*timeslot = x1
send1

  x1 := 0;

 42*timeslot = x1
busy1

  x1 := 0;

 41*timeslot = x1
send1

  x1 := 0;

 41*timeslot = x1
busy1

  x1 := 0;

 40*timeslot = x1
send1

  x1 := 0;

 40*timeslot = x1
busy1

  x1 := 0;

 39*timeslot = x1
send1

  x1 := 0;

 39*timeslot = x1
busy1

  x1 := 0;

 38*timeslot = x1
send1

  x1 := 0;

 38*timeslot = x1
busy1

  x1 := 0;

 37*timeslot = x1
send1

  x1 := 0;

 37*timeslot = x1
busy1

  x1 := 0;

 36*timeslot = x1
send1

  x1 := 0;

 36*timeslot = x1
busy1

  x1 := 0;

 35*timeslot = x1
send1

  x1 := 0;

 35*timeslot = x1
busy1

  x1 := 0;

 34*timeslot = x1
send1

  x1 := 0;

 34*timeslot = x1
busy1

  x1 := 0;

 33*timeslot = x1
send1

  x1 := 0;

 33*timeslot = x1
busy1

  x1 := 0;

 32*timeslot = x1
send1

  x1 := 0;

 32*timeslot = x1
busy1

  x1 := 0;

 31*timeslot = x1
send1

  x1 := 0;

 31*timeslot = x1
busy1

  x1 := 0;

 30*timeslot = x1
send1

  x1 := 0;

 30*timeslot = x1
busy1

  x1 := 0;

 29*timeslot = x1
send1

  x1 := 0;

 29*timeslot = x1
busy1

  x1 := 0;

 28*timeslot = x1
send1

  x1 := 0;

 28*timeslot = x1
busy1

  x1 := 0;

 27*timeslot = x1
send1

  x1 := 0;

 27*timeslot = x1
busy1

  x1 := 0;

 26*timeslot = x1
send1

  x1 := 0;

 26*timeslot = x1
busy1

  x1 := 0;

 25*timeslot = x1
send1

  x1 := 0;

 25*timeslot = x1
busy1

  x1 := 0;

 24*timeslot = x1
send1

  x1 := 0;

 24*timeslot = x1
busy1

  x1 := 0;

 23*timeslot = x1
send1

  x1 := 0;

 23*timeslot = x1
busy1

  x1 := 0;

 22*timeslot = x1
send1

  x1 := 0;

 22*timeslot = x1
busy1

  x1 := 0;

 21*timeslot = x1
send1

  x1 := 0;

 21*timeslot = x1
busy1

  x1 := 0;

 20*timeslot = x1
send1

  x1 := 0;

 20*timeslot = x1
busy1

  x1 := 0;

 19*timeslot = x1
send1

  x1 := 0;

 19*timeslot = x1
busy1

  x1 := 0;

 18*timeslot = x1
send1

  x1 := 0;

 18*timeslot = x1
busy1

  x1 := 0;

 17*timeslot = x1
send1

  x1 := 0;

 17*timeslot = x1
busy1

  x1 := 0;

 16*timeslot = x1
send1

  x1 := 0;

 16*timeslot = x1
busy1

  x1 := 0;

 15*timeslot = x1
send1

  x1 := 0;

 15*timeslot = x1
busy1

  x1 := 0;

 14*timeslot = x1
send1

  x1 := 0;

 14*timeslot = x1
busy1

  x1 := 0;

 13*timeslot = x1
send1

  x1 := 0;

 13*timeslot = x1
busy1

  x1 := 0;

 12*timeslot = x1
send1

  x1 := 0;

 12*timeslot = x1
busy1

  x1 := 0;

 11*timeslot = x1
send1

  x1 := 0;

 11*timeslot = x1
busy1

  x1 := 0;

 10*timeslot = x1
send1

  x1 := 0;

 10*timeslot = x1
busy1

  x1 := 0;

 9*timeslot = x1
send1

  x1 := 0;

 9*timeslot = x1
busy1

  x1 := 0;

 8*timeslot = x1
send1

  x1 := 0;

 8*timeslot = x1
busy1

  x1 := 0;

 7*timeslot = x1
send1

  x1 := 0;

 7*timeslot = x1
busy1

  x1 := 0;

 6*timeslot = x1
send1

  x1 := 0;

 6*timeslot = x1
busy1

  x1 := 0;

 5*timeslot = x1
send1

  x1 := 0;

 5*timeslot = x1
busy1

  x1 := 0;

 4*timeslot = x1
send1

  x1 := 0;

 4*timeslot = x1
busy1

  x1 := 0;

 3*timeslot = x1
send1

  x1 := 0;

 3*timeslot = x1
busy1

  x1 := 0;

 2*timeslot = x1
send1

  x1 := 0;

 2*timeslot = x1
busy1

  x1 := 0;

 timeslot = x1
send1

  x1 := 0;

 timeslot = x1
busy1

  x1 := 0;

 x1 = 0
send1

  x1 := 0;

 x1 = 0
busy1

  x1 := 0;

sender2

Init2 x2 = 0

Transmit2 lambda >= x2

 x2 = 0
send2

Done2 0 >= x2

 lambda = x2
end2

  x2 := 0;

Collide2_1 0 >= x2

cd
  x2 := 0;

Wait2_1_3 3*timeslot >= x2

prob2

Wait2_1_2 2*timeslot >= x2

prob2

Wait2_1_1 timeslot >= x2

prob2

Wait2_1_0 0 >= x2

prob2

 3*timeslot = x2
send2

  x2 := 0;

Collide2_2 0 >= x2

 3*timeslot = x2
busy2

  x2 := 0;

 2*timeslot = x2
send2

  x2 := 0;

 2*timeslot = x2
busy2

  x2 := 0;

 timeslot = x2
send2

  x2 := 0;

 timeslot = x2
busy2

  x2 := 0;

 x2 = 0
send2

  x2 := 0;

 x2 = 0
busy2

  x2 := 0;

Wait2_2_7 7*timeslot >= x2

prob2

Wait2_2_6 6*timeslot >= x2

prob2

Wait2_2_5 5*timeslot >= x2

prob2

Wait2_2_4 4*timeslot >= x2

prob2

Wait2_2_3 3*timeslot >= x2

prob2

Wait2_2_2 2*timeslot >= x2

prob2

Wait2_2_1 timeslot >= x2

prob2

Wait2_2_0 0 >= x2

prob2

 7*timeslot = x2
send2

  x2 := 0;

Collide2_3 0 >= x2

 7*timeslot = x2
busy2

  x2 := 0;

 6*timeslot = x2
send2

  x2 := 0;

 6*timeslot = x2
busy2

  x2 := 0;

 5*timeslot = x2
send2

  x2 := 0;

 5*timeslot = x2
busy2

  x2 := 0;

 4*timeslot = x2
send2

  x2 := 0;

 4*timeslot = x2
busy2

  x2 := 0;

 3*timeslot = x2
send2

  x2 := 0;

 3*timeslot = x2
busy2

  x2 := 0;

 2*timeslot = x2
send2

  x2 := 0;

 2*timeslot = x2
busy2

  x2 := 0;

 timeslot = x2
send2

  x2 := 0;

 timeslot = x2
busy2

  x2 := 0;

 x2 = 0
send2

  x2 := 0;

 x2 = 0
busy2

  x2 := 0;

Wait2_3_15 15*timeslot >= x2

prob2

Wait2_3_14 14*timeslot >= x2

prob2

Wait2_3_13 13*timeslot >= x2

prob2

Wait2_3_12 12*timeslot >= x2

prob2

Wait2_3_11 11*timeslot >= x2

prob2

Wait2_3_10 10*timeslot >= x2

prob2

Wait2_3_9 9*timeslot >= x2

prob2

Wait2_3_8 8*timeslot >= x2

prob2

Wait2_3_7 7*timeslot >= x2

prob2

Wait2_3_6 6*timeslot >= x2

prob2

Wait2_3_5 5*timeslot >= x2

prob2

Wait2_3_4 4*timeslot >= x2

prob2

Wait2_3_3 3*timeslot >= x2

prob2

Wait2_3_2 2*timeslot >= x2

prob2

Wait2_3_1 timeslot >= x2

prob2

Wait2_3_0 0 >= x2

prob2

 15*timeslot = x2
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 14*timeslot = x2
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 13*timeslot = x2
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 12*timeslot = x2
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  x2 := 0;

 12*timeslot = x2
busy2

  x2 := 0;

 11*timeslot = x2
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  x2 := 0;

 11*timeslot = x2
busy2

  x2 := 0;

 10*timeslot = x2
send2

  x2 := 0;

 10*timeslot = x2
busy2

  x2 := 0;

 9*timeslot = x2
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 9*timeslot = x2
busy2
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 8*timeslot = x2
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  x2 := 0;

 8*timeslot = x2
busy2

  x2 := 0;

 7*timeslot = x2
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  x2 := 0;

 7*timeslot = x2
busy2

  x2 := 0;

 6*timeslot = x2
send2

  x2 := 0;

 6*timeslot = x2
busy2

  x2 := 0;

 5*timeslot = x2
send2

  x2 := 0;

 5*timeslot = x2
busy2

  x2 := 0;

 4*timeslot = x2
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  x2 := 0;

 4*timeslot = x2
busy2

  x2 := 0;

 3*timeslot = x2
send2

  x2 := 0;

 3*timeslot = x2
busy2

  x2 := 0;

 2*timeslot = x2
send2

  x2 := 0;

 2*timeslot = x2
busy2

  x2 := 0;

 timeslot = x2
send2

  x2 := 0;

 timeslot = x2
busy2

  x2 := 0;

 x2 = 0
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  x2 := 0;

 x2 = 0
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  x2 := 0;

Wait2_4_31 31*timeslot >= x2

prob2

Wait2_4_30 30*timeslot >= x2

prob2

Wait2_4_29 29*timeslot >= x2

prob2

Wait2_4_28 28*timeslot >= x2

prob2

Wait2_4_27 27*timeslot >= x2

prob2

Wait2_4_26 26*timeslot >= x2

prob2

Wait2_4_25 25*timeslot >= x2

prob2

Wait2_4_24 24*timeslot >= x2

prob2

Wait2_4_23 23*timeslot >= x2

prob2

Wait2_4_22 22*timeslot >= x2

prob2

Wait2_4_21 21*timeslot >= x2

prob2

Wait2_4_20 20*timeslot >= x2

prob2

Wait2_4_19 19*timeslot >= x2

prob2

Wait2_4_18 18*timeslot >= x2

prob2

Wait2_4_17 17*timeslot >= x2

prob2

Wait2_4_16 16*timeslot >= x2

prob2

Wait2_4_15 15*timeslot >= x2

prob2

Wait2_4_14 14*timeslot >= x2

prob2

Wait2_4_13 13*timeslot >= x2

prob2

Wait2_4_12 12*timeslot >= x2

prob2

Wait2_4_11 11*timeslot >= x2

prob2

Wait2_4_10 10*timeslot >= x2

prob2

Wait2_4_9 9*timeslot >= x2

prob2

Wait2_4_8 8*timeslot >= x2

prob2

Wait2_4_7 7*timeslot >= x2

prob2

Wait2_4_6 6*timeslot >= x2

prob2

Wait2_4_5 5*timeslot >= x2

prob2

Wait2_4_4 4*timeslot >= x2

prob2

Wait2_4_3 3*timeslot >= x2

prob2
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prob2

Wait2_4_1 timeslot >= x2

prob2

Wait2_4_0 0 >= x2

prob2
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  x2 := 0;

 15*timeslot = x2
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Wait2_5_63 63*timeslot >= x2
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Wait2_5_62 62*timeslot >= x2
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Wait2_5_61 61*timeslot >= x2
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Wait2_5_60 60*timeslot >= x2
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Wait2_5_59 59*timeslot >= x2

prob2

Wait2_5_58 58*timeslot >= x2

prob2

Wait2_5_57 57*timeslot >= x2

prob2

Wait2_5_56 56*timeslot >= x2

prob2

Wait2_5_55 55*timeslot >= x2

prob2

Wait2_5_54 54*timeslot >= x2

prob2

Wait2_5_53 53*timeslot >= x2

prob2

Wait2_5_52 52*timeslot >= x2

prob2

Wait2_5_51 51*timeslot >= x2

prob2

Wait2_5_50 50*timeslot >= x2

prob2

Wait2_5_49 49*timeslot >= x2

prob2

Wait2_5_48 48*timeslot >= x2

prob2

Wait2_5_47 47*timeslot >= x2

prob2

Wait2_5_46 46*timeslot >= x2

prob2

Wait2_5_45 45*timeslot >= x2

prob2

Wait2_5_44 44*timeslot >= x2

prob2

Wait2_5_43 43*timeslot >= x2

prob2

Wait2_5_42 42*timeslot >= x2

prob2

Wait2_5_41 41*timeslot >= x2

prob2

Wait2_5_40 40*timeslot >= x2

prob2

Wait2_5_39 39*timeslot >= x2

prob2

Wait2_5_38 38*timeslot >= x2

prob2

Wait2_5_37 37*timeslot >= x2

prob2

Wait2_5_36 36*timeslot >= x2

prob2

Wait2_5_35 35*timeslot >= x2

prob2

Wait2_5_34 34*timeslot >= x2

prob2

Wait2_5_33 33*timeslot >= x2

prob2

Wait2_5_32 32*timeslot >= x2

prob2

Wait2_5_31 31*timeslot >= x2

prob2

Wait2_5_30 30*timeslot >= x2

prob2

Wait2_5_29 29*timeslot >= x2

prob2

Wait2_5_28 28*timeslot >= x2

prob2

Wait2_5_27 27*timeslot >= x2

prob2

Wait2_5_26 26*timeslot >= x2

prob2

Wait2_5_25 25*timeslot >= x2

prob2

Wait2_5_24 24*timeslot >= x2

prob2

Wait2_5_23 23*timeslot >= x2

prob2

Wait2_5_22 22*timeslot >= x2

prob2

Wait2_5_21 21*timeslot >= x2

prob2

Wait2_5_20 20*timeslot >= x2

prob2

Wait2_5_19 19*timeslot >= x2

prob2

Wait2_5_18 18*timeslot >= x2

prob2

Wait2_5_17 17*timeslot >= x2

prob2

Wait2_5_16 16*timeslot >= x2

prob2

Wait2_5_15 15*timeslot >= x2

prob2

Wait2_5_14 14*timeslot >= x2

prob2

Wait2_5_13 13*timeslot >= x2

prob2

Wait2_5_12 12*timeslot >= x2
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Wait2_5_11 11*timeslot >= x2
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Wait2_5_10 10*timeslot >= x2
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Wait2_5_9 9*timeslot >= x2
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Wait2_5_8 8*timeslot >= x2
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Wait2_5_7 7*timeslot >= x2
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Wait2_5_6 6*timeslot >= x2
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Wait2_5_5 5*timeslot >= x2
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Wait2_5_4 4*timeslot >= x2
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Wait2_5_3 3*timeslot >= x2

prob2

Wait2_5_2 2*timeslot >= x2

prob2

Wait2_5_1 timeslot >= x2

prob2

Wait2_5_0 0 >= x2

prob2
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